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1. Scan in the noise for the models belonging to the polynomial class.

Gaussian Noise 10% - AIC (Figures S1-S3)
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Gaussian Noise 20% - AIC (Figures S4-S6)
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Gaussian Noise 25% - AIC (Figures S7-S9)
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Gaussian Noise 10% - BIC (Figures S10-S12)
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Gaussian Noise 20% - BIC (Figures S16-S18)
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Gaussian Noise 25% - BIC (Figures S19-S21)
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Appendix B: Scan in the noise for the models belonging to the class of Power Law monomials

Gaussian Noise 5% - AIC (Figures S22-S24)
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Gaussian Noise 10% - AIC (Figures S25-S27)
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Gaussian Noise 20% - AIC (Figures S28-S30)
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Gaussian Noise 25% - AIC (Figures S31-S33)
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Gaussian Noise 5% - BIC (Figures S34-B36)
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Gaussian Noise 10% - BIC (Figures S37-S39)
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Gaussian Noise 20% - BIC (Figures S42-S45)
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Gaussian Noise 25% - BIC (Figures S46—S48
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